1 count under Section 77 of the Representation of

Date of Expendi- ture/Event	Nature of Expenditure			Total Amount in Rupess (paid + outstanding)	Name and Address of pcyee
	Description	Qty.	Rate per unit		
1		2		3	4
30/3/16	Pandala frature	1	800/-	800.00	RNB Electricles
Motic Meetin		2	20/	40.00	Bouragen
ntaibari	other puritury	1	900/-	900.00	Kokraylar, kmoun
	Mise		Tota	d Ro.1740.00	
	-		<del>  `                                   </del>	(Rupees One th	our and sown words
	<del>                                     </del>		+		fourty only)
	-		+		11.1
	1				113
	-				
		-			List.
	-	-			144
-	+-,	<u> </u>			
	+	1			
		+			
		1	-		
		+			¥:1
	<del>-  </del>	1			
	1	1			
	j .	1		*	
		1	7.		
		-			

## DAY TO DAY ACCOUNTS OF ELECTION CONTESTING CANDIDATES

1

			É
Amount incurred/ authorized by candidate or his election agent	Amount incurred/ authorized by political party and name of political party	Amount incurred/authorized by other individual/association/ body/any other (mention full Name and Address)	Remarks, if any
6	7	8	9
	By		
	Brakash		
	U.P.P.	: -	
	Block		
	Cemmi Mi		
· · · · · · · · · · · · · · · · · · ·	·		197
	-		
·			
		UYKKAO GWRA BRAI URICHAO GWRA BRAI Candidate (Ind)	Bouley
	authorized by candidate or his election agent	authorized by candidate or his election agent authorized by political party and name of political party	authorized by candidate or his election agent and name of political party and name and party and name and Address)  6 7 8

Q/1.

29 No. Kokrajhar West (S.T.) LAC 14th General Assembly Election, 2016

Date of Expendi- ture/Event	Nature of Expenditure		Nature of Expenditure  Total Amount in Rupess (paid + outstanding)		Name and Address of payee	
	Description on	Qty.	Rate per unit	1740.00		
1		2		3	4	
31/63/16	Pandale Freture	1	1200/-	1200.00	RIVIB Exectricals	
(Baorageni)	Tables	5	20/-	100.00	Bhowroqui	
	Chain	12	5/-	60.00	Kokrayhor	
	other framilia	2_	20/-	40.00	BTAO	
	Lord speak	1	900/-	900.00		
Pahadmpma Kelingbayan	Poundel Justin	L	800/-	800.00	Jackos Bannata	
	Table	1	25/.	25.00	Fahiragam	
	chain	10	54	50.00		
	Mithe set	1	300/-	300.00		
				3475.00	*	
				+ 1740.00	(B.F.)	
		Tol	al >	5215.00		
			,			
					·	
·	VRA BRAHMA	9				

Certificate that this is the account kept by me/my election agent under Section 77 of the Representation of

## DAY TO DAY ACCOUNTS OF ELECTION CONTESTING CANDIDATES

5

Bill No. (Voucher No. and date	Amount incurred/ authorized by candidate or his election agent	Amount incurred/ authorized by political party and name of political party	Amount incurred/authorized by other individual/association/ body/any other (mention full Name and Address)	Remarks if any
	,			1 V v. durbe s
5	6	7	8	9
			Prakash Naizan	
1			Prakash Naijan UPP, Kochugaan Notoch Committes	
			notoch committee	
			member	
. '				ý
			Ranjt Anahna President URR	
2			President U.P.P.	
			Fahigram Block	
			Committee	
			•	
· .				
			Urchas Gwon	Brahu
1	i	1	URKHAO GWRA BRAHMA	

MI

29 No. Kokrajha: West (S.T.) LAC 14th General Assembly Election,2016 Assam.

Date of Expendi- ture/Event-	Nature of Expenditure		Total Amount in Rupess (paid + outstanding)	Name and Address of pcyee	
	Description on	Qty.	Rate per unit		
11		2		3	4
19/16					
				·	
			,		
					1 1 1 1
		/			
			ļ		
	-				
	AVHARE A	480			

14th German

Certificate that this is a fluc account kept by me/my election agent under Section 77 of the Representation of the People Act, 1951 (Certificate to be furnished after the date of declaration of the result)

#### DAY TO DAY ACCOUNTS OF ELECTION **CONTESTING CANDIDATES**

Bill No. (Voucher No. and date	Amount incurred/ authorized by candidate or his election agent	Amount incurred/ authorized by political party and name of political party	Amount incurred/authorized by other individual/association/ body/any other (mention full Name and Address)	Remarks, if any
5	6	7	8	9
. •			/	. A
			f 17	_
		/ /\	1-6-	
		//	1	
		RF	RO FOIT	2
	/	D-1.	Kr. 5215.0	J
				11/11/11/11
			Urkhao 96	on Boah
			URKHAO GWRA BRAH Candidate (Ind) 29 No. Kokrajtis: Viest (S.T.)	W .
	601-		29 No. Kokrayter West (S.1.) 14th General Assumbly Electron	,2016

KWRWMDAO WARY Election Agent of

Signature of the Contesting Candidate

Date of Expendi- ture/Event	Nature	of Expendi	iture	Total Amount in Rupess (paid + outstanding)	Name and Address of payee
04/2016	Description on	Qty.	Rate per unit	B.F. 5215.00	
1		2		3	4
Sairali	Tables	3	25/	75.00	Herjen Brahme
	Chian	20	5/-	100.00	Herjen Brahne Gextugan Town
	Lond speaker	1	800/-	800.00	
	Trimpet	1	1000/-	1000.00	
					- An /
Rajadabin	Tables	1	25/-	25.00	Neigus Brahme
	Chain	10	5/-	2050.00	Neigh Brahme Kochigaon
				+ 5215,00	(B-E)
		To	fal -	A. 7265.00	
<del></del>			-		
<u></u>	Berreran A	PK	;		

## DAY TO DAY ACCOUNTS OF ELECTION CONTESTING CANDIDATES

7

Bill No. (Voucher No. and date	Amount incurred/ authorized by candidate or his election agent	Amount incurred/ authorized by political party and name of political party	Amount incurred/authorized by other individual/association/ body/any other (mention full Name and Address)	Remarks if any
5	6	7	8	9
			Rudin Marzan	
1			Rudin Marzan Seer. Kerlingan Ancholik Anso	The state of the s
			Madamon Aland	/
			Committee	
. 1				É
2			Pralianh planzany Membri Kochniger Block Com.	
			Marzany	
			Kechana m	
			la Ciocle Com.	-
-				
				and the second s
			UNICHAO GWA BRAHAM URKHAO GWRA BRAHAM Cannidate (Ind)	m 19 Jahr
	$\sim$	^	Candidate (Ind) 29 No. Kokrajha: West (S.T.) U	C osa

W.V.

Date of Expenditure/Event	Nature ed of	of Expend	dow Recy		Name and Address of payee
3/04/16	Description on	Qty.	Rate per unit	BF. 7265,00	
1 ,		2		3	4
Tai gugin	Chairs	17	4/-	68.00	Neigen Braha
	misset	1	500/	500,00	Neijen Braha Kodngaon
	Table	2	10/	20.00	0
	Mealing	1000	20/-	20,000.00	
				20,588.00	
			-1	7265.00	(BF)
		Tob	al -	27853.00	
	1			Ruppes tuenti	Seven thousand Eight
	1			hundred fi	Senen thousand Eight ty three only)
			(b.F	R. 46.000.00	As on Date 29/03/2016
			G/T	1	Mon Bate 4/04/2016
Maint	amod by	om Shac			Ason 4/4/16
1.00011	1			3	
	-		1.T=	2,03783	00
	-	<del> </del>	1.		
	-		+		
V tale		11/	1	diture Alan	on in the Shadow
* VUE	agree t	o Tru (	Jupen.	grima 75000	
	-	<del> </del>	1	-	
	-	-	-	<del> </del>	
	:	-	-		
	AMHASS	HAD CARS	way.		

DAY TO DAY ACCOUNTS OF ELECTION CONTESTING CANDIDATES

8

Bill No. (Voucher No. and date	Amount incurred/ authorized by candidate or his election agent	Amount incurred/ authorized by political party and name of political party	Amount incurred/authorized by other individual/association/ body/any other (mention full Name and Address)	Remarks if any
×				
5	6	7	8	9
1			Etya Kr. Boro Scy. U.P.P. Kochugaan Block	-
			Sey. U.P.P.	
			Kochugaan Block	
			Cornini tee.	
. '				Å
	·			
				<del></del>
~ F		<del></del>		
ny	170016			
<del>(9)</del>	104/2010			
	1, ,			
	PAN	?	UNICHAO GWRA BRAHMA	Bruhu
(	Jeg you		Candidate (Ind) 29 No. Kokrajhar West (S.T.) LAC 14th General Assembly Election, 201 Assem.	